Key to Quiz III; F4360; 10:00 Class; Spring, 2000

1.  Assume that a firm is considering paying a 10% stock dividend (one new share will be distributed for every ten shares outstanding).  How will this stock dividend affect the percentage of firm owned by the stockholder who currently owns the most shares?  No effect

2.  Why should stock prices increase at the announcement of a dividend increase according to the signaling theory?  Reveals management’s optimism about future earnings.

3.  What typically happens to stock prices on the ex-dividend date?  Fall by amount less than dividend.

4.  According to the Clientele theory, what type of investor prefers high dividend stocks?  Low tax bracket

5.  What are the two basic steps in a tender offer?  1)  firm offers to buy shares from stockholders at fixed price, 2) stockholders inform firm of how many shares want to sell.

6.  In what order do the following occur? payment date, ex-dividend date, declaration date, date of record?  Declaration date, ex-dividend date, date of record, payment date

Use the following information to answer questions 7 through 10.

Microsplit Inc. is considering repurchasing 200 million shares at $120 per share.  Currently Microsplit has 5 billion shares outstanding with a market value of $70 per share.  Microsplit has four stockholders with holdings as follows:

Stockholder
Number of Shares

Mr. Bill
1 billion shares

Mr. Paul
350 million shares

Mr. Steven
150 million shares

Mr. Public
3.5 billion shares

7.  What is the wealth of Mr. Steven before the repurchase of any shares?

10,500,000,000 = 150,000,000 (70)

8.  What is the firm’s value per share after the repurchase?
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9.  What is the wealth of Mr. Steven if the firm repurchases shares through a tender offer?  Assume that all stockholders act in their own best interest.

Number of shares can sell:  
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Wealth after:  12,270,833,333 = 110,000,000(67.92) + 40,000,000(120) 

10.  What is the wealth of Mr. Steven if the firm repurchases shares by using transferable put rights?  Assume that Microsplit issues one put right for each outstanding share.

10,500,000,000
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